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Recoll 1¢ Y Jg[)en&s on v and U &Pu\&s on X, 'H.cv\
\/ &efse.uﬂs oh X, omﬂ

dy = 4 .il The chain rule v. 1.
Té a Ax

Let, wede this Jncferw{' ' ot = fl, )cu«oQ = [sc), o
Y:’?(éﬂ(x)) Then “1 P yEe "= )

gy = LORGGIL, ay <FlI-Fl40d, do = gl

So 'H\c. chain ro(c V. -1 houo r‘coces
EF{Q(X))] Fgﬂ(xl)cs[x) The chain

r'u(e V. ;l

ax

TN OTHER WORDS, to Ifferertiote o choin :
(1) Duf(‘erewho:"e. the. ou'}er pvucfton, o.ucg _l')_g the tnner
'Pum;f\Oh m‘l'o f[\fs Jcrtva.hue.,' 'H\&u

(1) Mu“‘Z"{ Yoof rc.SUH 6‘, ’Hse c&rq‘gl;we. a'(‘ fAe. mner
Cll

cun onh.
[ DON'T FORGET STEPQ!!]
E a.mple.s

o) A4 [(8x Saxed) J 9~3(8x+&x*3) & [ 8x%ax +3]
x| dx
'“me. Ou‘lc.r’ Fohc'tloh FREN y
1s U3 and 5, = 33(8x% ax+3) (40x+9x).
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Q) Fnd v of y = {an(2”)

Sglut oh.
\!/ d L ten (lx),] (). L]
&X L> outer

AX
fonction 1s fanlu), = In(&)&xscc:‘(lx).
dervatwe is sec® (o)

(3) & [ coslecos(x))]=-smleos(x)). 4 Leos(x)]

Ax Ax
= —sinleos(x)) (- b))
= smlcos(x)) smlx).
€
@ d 25" @7 206)Y ) & [smlz)]
dz [3 J ' d= ’
(=)
-|n 535". * GOS(%)

(5) 4 [ SM(COS(.E” = |n( )35‘”(605(2)) 4 Csmleos(z))]

/ 4=
) n(cos(zY)
chamrde VA = @3 cosleos(z). d [eos(®)]
Az
s:u(o:s(i*))

a":"" rue v -In(3) coslces(z) sim(z) 3
2"

[ For a chain of three Lonctions, uvse chain rule toorce. ]

(6) Find K’(O) o
K(t) = G(‘fs-l-&‘f-cos(él) and C.'(-/):&
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Soludion.

First, £ind K'(8):

K 6= 4 Lot Seat-cos(®)] = 61452t -cosl®) § [4+3t-coslh)]
d At
=(5 fL'J-&-(- sm(®) G '(ﬁat ~coslh)
Neow Plgs in £0:

K '(0)= (S‘Oq*-&* sin (o)) G '(05"’&’0' cos(0))
=26 (-1)=Q-3:=6.

(7 (Tkg chain rule in reverse.)
Fm& a function 5(%) such 'H\ai
j'(£)= cos(z) .
(5+4ain(z))"°
Solutien. < "
We khows “\ad “fo_je.‘l' a -0~ Powe.r; we J.P'('ercn'fla'l'e. a 'q_

o

Powcr . So le.é; fM/

(z)=__ 1 .
A i)’
We check’
‘3'(23= -9 . L[5*sin(z)] = -36cexlz) .
(5“450\(%)1 ? e (5+ 4sm(2)) '
We're of € 67 o foctor of =36, s0 we fry
j(zl= -1 .
35(5*’45»-(3))"
Then
3'(';\=('Q)["|J ' [_5“"8"!(?)]'-‘-36%‘5)
36(5+4sm(z)'° Az 36(5+'-|sm(~2))'o
= cos[!) )
(5+Y45mz))'° =1

so the correct _quess B ’3(£)= 36(5+'-l€>m(%))q



